	Set 1
	Landmark 1
	Landmark 2
	Landmark 3
	Landmark 4
	Landmark 5
	Landmark 6
	Landmark 7
	Landmark 8
	
	Landmark 10

	H (chi2):
	1.2610
	0.9697
	2.7150
	0.2424
	2.5940
	3.3820
	2.0120
	1.7450
	
	2.0610

	p-value:
	0.5324
	0.6158
	0.2573
	0.8858
	0.2734
	0.1844
	0.3657
	0.4178
	
	0.3569

	Set 2
	Landmark 1
	Landmark 2
	Landmark 3
	Landmark 4
	Landmark 5
	Landmark 6
	Landmark 7
	Landmark 8
	Landmark 9
	Landmark 10

	H (chi2):
	0.3758
	-
	4.1700
	4.6790
	0.7758
	2.1700
	4.7760
	5.2120
	4.1940
	0.6788

	p-value:
	0.8287
	-
	0.1243
	0.0964
	0.6785
	0.3380
	0.0918
	0.0738
	0.1228
	0.7122








